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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

41- Bulk materials like coal or grain ---—--- by conveyor belts or ------—---—-- along
pipes from the ship to storage buildings.
1) would shift / send 2) may be shifted / sent
3) were shifted / would send 4) should be sending / were sent

B many different English accents because 1 have got many friends from
abroad every year.
1) am using to hearing 2) would rather hearing
3) am using to hear 4) would rather to hear

43- Suddenly she felt very disappointed and didn't know what to do -----<eeeeeeeeee she was
waiting.
1) while 2) until 3) so that 4) as soon as

44- | think he wishes he ~----v-aeeuu ---- something, but I thought he was quite eloquent.
1) prepared 2) have prepared 3) had prepared 4) would prepare

45- If --=-eseseeeeeee= a bus to the Cancunt hotel zone, try to sit on the passenger side. You'll
get a great view of the Caribbean.
1) taken 2) taking 3) to take 4) being taken

46- A line of forts was built along the border to ----eeaeeeeeeu the country against attack.
1) prohibit 2) design 3) supply 4) protect

47- We, as mankind, should be very grateful for God's creating the sun's pulling and
pushing forces in ———-—smeeeee,
1) orbit 2) altitude 3) balance 4) measure

48- As far as I'm concerned, your handwriting is not ---—-—eceeeeev ; why don't you use a
computer for your assignments.
1) legible 2) varied 3) inevitable 4) obtainable

49-  Although a cheetah can -—=----eeeeeeen a speed of 110 kilometers per hour, it can maintain
this speed for only a few hundred miles.
1) convey 2) uphold 3) invade 4) achieve

50- The entire history of the human race has been marked by ——---—-e-ee- of cultural and
technological advances from one civilization to another.
1) dilemmas 2) transfers 3) prejudices 4) appointments

51- Compared with the other regions, unemployment is === --- much higher in the east
of our country.
1) randomly 2) reciprocally 3) conceptually 4) proportionally

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.
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One of the critical problems in archaeology is dating and therefore two different types
of dating have been (52) ~--=-=mmmeemm- . One is called absolute chronology. which is the
actual calculation of the object in years. (53) =====semnmmex is called relative chronology,
which refers to the dating in relation to other phenomena (54) ------------ chronological
sequence. One can say it is older than another object but cannot determine its
(55) =mmmmmmmmman age. For example, in prehistoric Europe and Africa no written dates
existed before the arrival of the Romans. (56) ---------------_ a date cannot be assigned.
A major problem for an archaeologist is to date the prehistoric world. Thus, relative
chronology is used.

52- 1) declined 2) subsided 3) devised 4) abolished
53- 1) Other 2) Another 3) The other 4) One other
54- 1)in 2)on 3) at 4) for

55- 1) adequate 2) actual 3) temporary 4) imaginary
56- 1) Yet 2) Though 3) Nevertheless 4) Therefore

PART C: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice
(1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Scientific observations are made under controlled conditions. Laboratories are popular
with scientists because they are handy places to control variables such as heat, light.
air pressure, time intervals, or whatever is important. A variable is anything which
varies from case to case. For example. people vary in height. weight. age. sex. race.
religion, education, behavior characteristics. and many other things.We have a
scientific experiment when we control all important variables except one. then see
what happens when that one is varied. Unless all variables except one have been
controlled. we cannot be sure which variable has produced the results. If we wish to
study, say, the effects of phosphates on plant growth. all other factors - seed, soil,
water, sunlight, temperature, humidity - must be the same for all the sample plots:
Then the varying amounts of phosphates on different test plots can be held responsible
for different growth rates. This is the basic technique in all scientific experimention -
allow one variable to vary while holding all other variables constant.

57- The author suggests in a scientific experiment ~----eeeeeeeeee,
1) only one variable is controlled
2) none of variables are controlled
3) all but one variable are controlled
4) age. sex. and education are important variables
58- Labs are popular places for experiments because ~=---s-eeeeeee,
1) they are more comfortable
2) it is easy to control variables there
3) they are built for experimentation
4) it is hard to get permission for other places
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59- The word *handy” in "handy places to control variables" in line 2 means -------
1) helpful 2) habitual 3) scientific 4) convenient
60- According to the passage, which sentence is true?
1) A variable is constant in different cases.
2) In labs. experiments are under careful control.
3) The basic scientific technique is to keep all variables changeless.

4) Using the varying amounts of phosphates doesn't have any effect on plant growth.

(S)8)3

£ 4 o0 4! oo J515 Sall o1 s Jybas 33 Gy vt 51o J3Sg0 Sy

Joails  awdlgusl 4l (¥ S ol (

dlo cemdgnl o (F Lo g oS gine (F

2,00 0923 s sledgho aed 53 Ly i by plas JUS! paiile

Oiged slags adgl Jle Jlast (v i g pedS slogyg il oa ()

Wl S 93 53 Digped g et JUa! (F e S 99 53 el g prie JUaSl (Y

e pLiil g o5 g0 DT (1 jaae U (o 51y a1 Slap LN JUb clo e (i yg0 42 50
£00,5 g0 T Sl

Criseener b T igg i sl oS5 oo ()

oS G LT dgyg 5 s (oS5 e (Y
Slandgp il g pasiate slasg jea> (F

S S5 @ (njgegg i - (wigs b asgea JLail (F
Cammmaz aill ol 590 )59 2l o P Z 90

ik gal i Vo (Y Lok L1 ()

byl ;5 guly Vo Ll (F Wik fgamsl Vs, (7

€310 3929 (593 05 13 0T sLb > (el 992 e i pj Curdg pluas jo

Iy plaS slaceens jl e jeee (Y os> ol ol s e e ()

o> 5 g La sbS,) o (F s, Slo gla e 5 g5 50 (T

25 andly plas b (oo (b 2 B US4 (93 b Gl polie a5 (ols G p i (omas S 53
fodigm o0 E999

Sl 09> e 9 b (Sl ja8 1O

Al ol el g Sl )l Glasl S s (Y

il ol e awgi aplay (28,5 1,8 208 Coa (T

B Jbyd Rl (s 5aled - gt 85l ouetS (¥

a8 g0 3wl (GFR) (350888 (ygmmsl yilad (l5a0 ) 5y 43 (Jg peslS S 3190 Silinng jod jLLS fals
SRS o mals (Y AR 0 ol ()

Sgd o Cull day g Slul ! ozl (F A2 gad Sboul (g et (T

-#\

-FY

-FY

-$¥

-70

-FF

-y



Vo axio 812F wwlbyl p (590G &l

S o0 S (S5l ped i )3 1) ol ply o 35T (e 5 sab & laads 0 Syplas —FA

oty (F 39 ezl (F ! (Y Oyl ()
ol yigo dy ) ;0 adaww S mals )0 dod jl o CUSS jew 30 29290 00k plus -F4
bty ! (F S slagss (T by (¥ aaslgians ()
! il U plaS (gl (o (sLAE (g Ll iy Ve
SenSliganyS (¥ O3=S1 ()
hae Slad )3 ST (F SaeSlgige )5 (¥
] Ygo Jor Jomily S byl (ol (paon s JUe 5 (o (ko 83Lo (ud S151 50 G el -V
A el (T peelS (Y 2 ()
§ el ol JuSld Joro Coomnd p1aS (535 30 omaf g j0 -V
a5y b (Y 15y 5 &mbs ()
Sliw el L)l sl (F sloasld glsonis (¥
09w 50 oukae a3yl a 90 5 Jalge 51 G plas VY
O S ga s (Y ansjlss gl ()
e s 255 90,90 (¥ odna ;3 132 > 18I (T
10940 50 gy 00£ )0 (39098 5 (SOL ) polie (40,5 03033 Lacly (g ) pIAT b Sy SR 90 98 Sy -VF
oo (F Sl (¥ maglley (¥ o&a ()
€39 00 game 0y (9098 Sglie Jles! 5l Syplas -V
il slaacal 5 0ty g5 1530 (Y 571 Mg Gl 2z Bpae 22 ()
O slasle )0 Gatig i Rl (F G el 53 356l B e a3 (Y

Lo LoyS Sl (mad H51 .0 100 Vb gamdis 42,070 1y A 35kejl 0,5 Y00 clod wpmo sloyS (oolhie -VF
Sl B 33k 3319 5loyS pilp iz A 85Lo 3319 sloyF 3y YU Logamnden 42,318 1) B 30k 31,5 ¥ 00

\v/ Yo (f V/ Yo (Y ol YO (Y ol o ()
L ,5)3 CJ‘!' \LS)? aolol .\i',ﬁ'uoﬁmphf ..\QUGQA—:..:‘QQ‘,& }IJMO@ QL:J 1) LS)"; ,3)5 .x}J&& A

el adunds

A A

B

B C (v

D(f
.‘. C

Sgac ™
. SRS, D
lpa| s




W axio 812F ewbliel p (g5el s Al

oS 50 593 AT 5l pio Gl Y 0 1) punadr Cansl s Jolb el el Jab 5 3310 5158 Gaze AuT Jlie (o —VA
ol sl 4 421 o S Al 55 gn o Sy 13 Jso
Vo ()
Yo (Y
Yo (r
fo (f
ypaia 31 Byl 453 i b giyp ool B o VT oSl sy b (5 paiin 4 198 51 595 9530 0205 K 30 VA
o9 o0 )
0
Yo (¥
fa (v
o (F

$a° &

o y0 A S 20 3)lg (yaige 0/ VP (595 mh W g i yl0 13 o8 Sl 1 ALold o ol ob g el i SO SN JL 9o A
S 5l .75 397 010 o 4 4ol 3o 311 oS 41,505 4103, o1 31 o0 (o0 iS00 5
Vo ()

\$ (Y
Yo (Y
Yo (f

G055 3yls b ST ilends wiuy (Jlgie o jgeas il 198 Ll Glxie o 45 wlis o5 99 5 USG5 0 -A)
o9 p0 plp iz 500 (555 pw 99 Jeunilly IS0l 2l ¥ 1) ol 5l (S0 Cud b S 5l 50

C C Y
—(
———— v
Y (Y
e Yo
i(f
Y
698> L i WD oo (3l g ol 9 Ziwcdg 4 (5 polie (R S Sl Caoglie o3l b g JSG 0 -AY
Ry CASS g0 pund
VWV Sl sl ()
® G- Gl (8
% Sals - sals (¥
R, ol el (F




Y axio 812F wwlliel p (559leasT A5,

P b o)l Job sl Aasl ;8 50 5 a0 ey pelele Jeb & (s o)l (g9) gledlw Slwy -AT
OV DI PCRTES VICTSUNE EREDINTL
\# ()
of fm (¥
of AT (¥
YF (F

Wil B Slegi oy plp 90 A JSleg pya ST cwl B gA [Silegi 99 ploj = o jloged ) JS& -AF
ol B jRilugi 351 plp iz o (Sl 551

y(cm) 0
A ¢
Bk i : Yo
i \A - (¥
: f
A\ g
/\ »
o - » 1 —'(F
_,\/ A

ol F= (54 Yo)i+ (YT —10)f im0 ST 33 o (Ko ;18 Uolae § WS co &5 p> amio 40 T yxie —AD
fouwl 4l p yie Wt = ¥S dlaxd )0 I pie Cas paw
Vo ()
VE (Y
VA (7
Yo (F

328 slalaii 1ol p 5l e AU F/D Agls [l 09 (o0 GU 3 YU @ 9 @31 Ll 50 (oo el I sldlglS -AF
Ceal o Wiz e g U Walf ool ol liiy) g 42338 aliil pled | Jud Al Sy a5 WS 0

m
(g=\°s—Y)

O ()
Ad (¥
Fo (Y
Ao (F



1Y axaw 812F wwlliel p (559leasT A5,

GLd sl P =51+ Ojgoa ST o o] SIS Uolae g WS 0 €I, > X jame 59, TKE py> & Sy —AY
Sl duili j90xe p yoo i t=YS Ao ol &5 >
Y ()
g (Y
Yo (¥
\Y (F

Oldee S glaliod o g glalaii 3 51 B5b 0 plide > Ly )Y (g (bliog Ul Z90 S -AA
ol pIS (S 2SI loas Cager il © pummaboliie

— (f T A @
] 28U oS quaablineg iSdl 93 ) plaS & diunnly Z90 Job  -A%
L& (F 323955k (¥ Erep (Y =il ()
! saile B suis b1y oy (SUd atd 3l ao Joui> 59,T 0 3l am .l 3oy A ljgi g 83l S0 ok o -4
sy Fo (¥ ao,0 £0 5l S g 22)0V Y0 5l S ()
doyo Fo (F a3 VY0 5l A g a0 YD I 2aS (Y
ol ol

foaml 03Il 42 0 )b (gammilomgar x> 4 (359 W0 )3 3y Cawl 5 (095 59 (50 JulS Sualic Sy 1)

Aoy Fo b Fo (Y aey Be B Yo ()
Ao V0o G YYe (F Ao, 1o LV (¥
fadl oo S4> 42 4 9 )ludis x> axdl LoU &gl oume 3| PA-axial glai jo -AY
Lioewaar, o TO L YD (Y Liwwaar o YO U Yo ()
o o 43 42,0 YO B Yo (F ot o 43 4250 FO U YO (Y
o o0 ooliiul oiled 4z 5l adgeSiuw § dgafiow 4 0958 Jlail Jo 10958 Juled Cg> AT
PA-axial (v Axial ()
PA-oblique (¥ AP-axial (v
3l e 4300 o sualis 5 sapleis b oled (ol b3y G970 AP glei jo -AF
S o Sleread (F ey slepss ()
pyia £l (ales (F s g 90 (T
13505 o0 S35 3 dm AlBS Wi S 50 e lo oole g yides -0
Yo GO (Y ALY (O
Yo YO (F Yo LY (¥

Sl plas (559 00 pof L I jlow Cbla> Sy B9y (2P 3 -7
b s 9,5 sgaza (V Jom e glezal, ()
L 6[&]61.&} )" salazu! (F )L,,?:, Y _5),6, (v



\F axin 812F wwlliel p (559leasT A5,

Cyge pj i sBCwrdy j SuplaS ;0 ol (2B - 5305 9 505 o je I Sy el 5O

13,5
el bl o (F pa ol 20
sloms plyl s > o (F s ntls &5 51 e (T

€39 o0 oudlis ouis Wiz Ty o>y axdl dg0e Sl b rowid 3l eoliww! PA slai 4o
Yo (F 3 (r Y (¥ ()
dad) WOl g b3 50 cuwjd (A gl )5 ST (LA=SY) (2 = (5 a8 (sl8e 40 & o slad 50
Togub o odld digly 4> 4> 0 94 0y 5

oo s 43 42,3 8 ) p0 5 az 0 A Glaye 5 ()

b Soow g @250 8 () 0 g a0 A loye o (F

o e & 4z )3 A 65 3 g4z 0 0 o pe o (Y

b S g a2 )3 A (1) j0 5 )08 3,0 o (F

Sl alai p1aS andl Sl 35 y0 Sty SUE 31 6510 00 gaa8 3

553 gl ot 451 5Vl a8 )

S dygly gL ad o L w3 Ve L3 L (T

S8 Al VL e b YO (Y

Sl 59 2 b Cem ez e 23 (T

el g slalel dad Lol e 95l (gl g )10 1y guai (g

g Sy S 4 50 o3 boadlss PA gl ()

> g Coly Caonw 43 i o3 b ool PA lad (Y

oobiws! paiice PA (glai (Y

sdwle> paiius PA sles (F

Tl oo o j90 (99 (9l = (i Jilo (slai ;0 SID pudali 5590 30 1 sass 3¥ 5l Syplas
Foa g5k Yoo SID (¥ S sl YO SID ()

soa ilw VA0 SID (f s gulw 40 SID (v

-ay

-4

_‘co

-4

-\-Y

fow! e slaigh el cwlon sled 390 y0 4y 38 plus VoY

dazox 5228 cloi ;5 slaisS (sla yused cualive ()

u:".L“j" 3940 Ceow 3| 5,35 a0 \o 5)!.).5!4_,),..,‘_‘.:.5).? (Y

A5l pgai 535 ,8 Slilge 4 OML ks a5 5,5 15 5 ,8b o (¥

Sy 25 9 ety a5l Y/ g8 usd 350 & TOML 3 spac 555 50 a2 (F

3 &350 Axdl Zgy3 Al o b Cuwly G sy 353 b (G055 se s S gsme Jile AP sl o
?M‘pl.\foi@{-?

b o 4 CV (g 15 80015 5lamy0 Vo &gl5 L ()

b Cam & CV (g5 30015 jlazs ;0 YO &gl; L(Y

e A Cy 6)5 5..\3|J' }'- a0 Yo a.g,'}l-g(\'

ot nms &y CY (515 500l 5l a ;0 Vo &gl L (F

—\F



10 axin 812F wwlliel p (559leasT A5,

o9 plowil oliun| ©y90 & Wb 35 g 1 SIS 51 (5510 2 p guai

&laily s (F JhuLL ¢ g <S8 ()
Ol Glawl o golad (K850 Als juhouw (595 1w Caow & anidl 4250 FO 35505 b S GIAP slai yo
Cogui g0 0310 (LLS WS>

SIS 8 i gol> (Y Glauls 85a b ()

Slauls 5> ooz (F slals &> YL (7

a5 sbaled I Suplas gilj bato Fabdle g o juis gl 3,90 )0 sad Lrals 908 o)y S
99,5

- o3l 8 sl (V @z - s @) sles ()

ol - iy bl sl F s = sl ble sles (7

(g0 azgi Wl 55 OGS 1 Suplas & jlew @il (10 AP (gled by @lo 5 (5510 0 pgaai 5
Al i > adle S ()

L3l b oges g gl 85,5 L sjlee ) sla oS (Y

25 )18 pgal 80T 0gee L AT B 0gd 03 g5k e (T

3,lee don (F

Pl go slaks 4z Sl anil asl iy drgf3 b UBSSN 51 559700 (g = gl slos 53
o Jade Coaw 4y a0 YO (Y Sl o 4 453 10 ()
OS] Caas 45 4> 0 YO (F 7o Jais Coaw 4 43 1O (F

€0 3u8 o0 )18 > 4z 10 95L poal wui S U gilse b @ b buis o ssalin Cys
Jb Cans 45 25 > (V )b Cew 4 23 > ()

(Seegilil) b Sl 4 (F Bl aar o fd fo e (Y

sy eSSl g Cawnd &S ylgiwl Juado j0 oy p) W) il bLy FHb vy S 2 soled 51 Splas
Yl duie

o9 gy AP slei (Y sdsd gy PA slai (0

Sk PA sl (¥ Sy sy AP slas (F

§ Canl Zaao Card Sl gl 9 o Jako SIAP glai 5,90 ;0 4 35 plus
Dy o ol e il F0 SID (A

Ded g0 03l 23 > 7 )15 e 4 e (V

255 o0 18 00T (59 p ble D jpe 4 S CASI(Y

ige Jate 59) » g e 2 42 3 TO A3 2 L 555 e 2l (F

faly als gua Ul b 5595090 51 Suplas 5o

4, Sgas (¥ (g e (T Y G (Y s> bl ()
‘.'o,&u.o solaw! ol.'o’.m.; Q«.d JJU {LIETY R S ) ‘Slblmi j' Soplas j'
J)',a OV (f Jl..a’a 6)Laoo)..f.3 A kﬁu))" (Y LS“'L“ 6[0.: ()

€29 o0d 0udliio W ylaid 51 S 393l pawal 30y slaleisle I Splas
I o Juais (F B Slazed (F 5 gt (F ety S i ()

-1+

~\e¥

R

“YoA

-1\

-

-1y

-1y

-\\¥

-1



VP axino 812F wwlliel p (559leasT A5,

laniss slogi il jo CBlis 5 o) Dsi p S d

39 Ay ol Ko ) Sl i 51 Suplas O (55595 i1 30

DO (¥ Hqe H,O, (v O,

2 295 oad SFUGY, /MAS b cul iy SSD=Voem 3 YokVD ;0 29)5 dndl wud
fow! nGy, /mAs ae VP kVp

A¥ (F YA (¥ 3 (v FY ()

fabl g0 LDAo/Po Pl Gae 4z 50 g boad ol jlaw,s W S e

39y Oo - Pl (Y 59 Fe 807 (A

39) Fo - 8el (¥ 59 Po - Foll (¥

ol Gl (595 52 Bagi 5 (o2l Ot e 25 G111 Syplas

=59 (F yos o aligs (T OlgF Gl j (Vg5 @ )i ()
kev

pm

v (f o (r Y (Y V()

Sl Wiz il b Sl il RBE

o (f Yo (¥ Vo (Y V()

faih 1) ol sy p 4 Cuns gl Cumilus ) gla sl jl Soplas

e sl Jobo (F sceudlgrnl (F el 2 ) (Y bcosad ()
sl plaS Sl Al & Conndd J9S 309 5o (32 5 ol

e (F oS Sl (T Oy (Y DNA o

TS o0 SSE i |y (o Elgil 25 s oo 30 5l Soplas

et s (F lops Sl (Y o ek (Y TLD ¢
fadlyge Gl o alien L i 5 (5 e 30 31 SoplaS 33 uSulyi p i

bt o (F Slopgs S3LLI (T = phed (¥ TLD ¢

a0 Slml pluwgd oo Wi b (55llg WL 7 L ol

\F (F Yo (Y (Y Y ()

ailoads domons aulgl VLA & LT dod g Cunwl 590 Fooo Jold aF FFo V 50iiS ol 41 yoygiuil yi g3l S
YU 5y 595155 ool & o (ool Sy bl oud dowend 390 YT oo Slusi a gl OVl 4 ,51.0,00 Juail

Yol Cdg wi>

Yao (f vED (T O (Y Yar (\
Sansl aigKr s a3  oiSTy (sligi a9l Al

S o8lg 5jlail alb o SOD =4yYcem g SID =\ooem .cul \Yem S1,Se00y 50 ads S SO
Soaw! y gl Wi
A (F o (¥ o/ AY (Y A0 (N

-\\#

-y

-1A

-4

Y.

-

-\YY

-\YY

-\Y¥

A

-\ys

-y

-\YA

-\r4



VY axso 812F wwlliel p (559leasT A5,

S Sl gl (S jpdds wilgi o0 2 Jalge 5l Suplas 1Y

e 2 i vy (F > JB> (¥ e gosl 302 (Y > S5 (0
Tl el Wb wio o Wz MA b sl 710 lhae 4 KVP 51l (5598 &iils slnsl (g1 1Y)
do  (F Yo (v \0 (¥ YA ()

PR AS i 393 gl 2 BIOASS @ O jlew 3)1> BeomS g YoomA 4 Lo o055 5l Sl Feol, S -ITY
fadl Wb juds> wasMA Gl ouds Ol Yooms b o oplply 09l o0 S5 > 590 &
Aco (f Ydo (Y Fdeo (Y Qoo ()

O Jeoled g Youm sl & obans hHlo a5 oy )8 OO (o gilw jo b i cows ) & )8 uils 8 -IYY
fadl oo yais> Cowl Yooum glaxs

YO (F Yo, ¥ (F Y4, (Y Yo,V ()
S gn 03kiEul 3510 F/B ol yiiS 45 aily ylgsiunl K 1 31,5900y 51y ¥)) bruigio and b dmio g plad —IYF
Sty (5 3181 Gl S
VRO (F VY AL (T ASO (Y VES ()
30,5 o ol YU ((olad (1 alg),) olad LS G038 ) 35lee 3l STplas ;0 -1YD
anal gl 30558 - oL g (V wnl gl 800y - o5 gl ()
Gy pgea 50y - 3L e (F B gyl 505 - o e (T

@lp Jlesa! jlade an all SO plp YoKev f9gd sy ey cdl b 0 isdlgid 055 p (pnd Jlaza! 51 -1FF
39000 yaS BoKev S0l (97

o, 048 (¥ o, o FF (T o, oY (¥ o/ 0\ ()
Ol S8 a5l itns puSa A ioads &ials (65,51 o Al (595 325 Jolgs 3| Saplas —ATY
¥ 5Ly (F Y Sy (Y 2L (Y Saa eals ()
Sy 5 Jood Sl Al 4 Uy S oz (55,51 31 oo i Loy Voo kVp 4o —IFA
V0 (F VYO (Y V(Y o8 ()
YoomASs g YOKVD ol g ouilsd p olSows b 815 e0le O b 50 (Jo) aaly 19) Fil> iyl sl —1YQ
LW R RO
\Yooo (F \oooo (F Yooo (Y dooe ()

2970 31 alold .ol sl 0018 51,3 VAo em alold ;0 aicw add 51 31 5e0l) olp 17:) gilae )5 S - )F.
Yol juds (emM > p) S5 Grid cutoff &1y 5355
Yo, A (F ARTANN{Y YA (Y VY, ¥0 ()

KTyl (og T

$3gu g0 0D pj police j1 SGplus Wl flaawl Sligd byl ;0 -\

ol Sy 80> (F palls (7 LIS (¥ oyl Sy Bl (0
Ty g0 Juake 15 s lpiint 3| SsplaS b sl 59 wgBSUS lgsiinl ~IFY

sl (F sl (¥ NsSagh (¥ p yheisS ()



VA axio 812F bliel 1 (55e) s Al
TS 03U 1) oS 1 dlas jl Syplas —)FY

ol ygee (F sla (V ) A (F S a2 ()
3,00 )18 (A poiiwlioe 43 pj polis 5l Splas -IFF

gess (F Sl g (F b gSig e (¥ sy ()
s i oS0 @il By GBaSLE 1 5 b p pled —VFO

Sligh Jusyls (F S35 (¥ SHligh S e (¥ Sl ()
e plaS Canly s925 Db Hlasdlo o i SlBgd 1P

el sSg e (F 0 (Sls8 gl usSS (7 S5y s (¥ sz ol ()
bl oo oalS oy & g jo ) SBZ 9 5l Suplas —IFY

S92y sbaau g (¥ sy obe ()

b35S g (F JAea (¥
A Wiga o 0md ) agledsle pled alds @ Jlaale 5 0 -1FA

Uy (F S35 slapynm (7 S3:l5 slop o (Y 4=l ()
13,10 ol > o> ) dlg) Cand 1p 5 > )5 -1FA

&l Sl (F Jaeel (F gaasl (Y pelsmlan! (1
g 0 0 ) gLl jl Suplas las gl> j0 -1d

o S (F Pl £y (¥ 5 858l (¥ Py 839 ()
Sl 00s 3,8 ablol 3 s yleis b jI S plas bawgi (Wl ySib yw —10)

paab! (F ansjlss (7 als (Y sdme ()
% 4l 5 80, 4 byye 2 s g pled 10T

Ay Joeel (F Sgb g (sloonsl; (F P g (¥ s O
fadloo @lp oy @ by pj 008 jl Suplas -1OY

gl (F Fdges (T ! (¥ A9y ()
3,08 518 e By, 53 2 slapl i jl Saplas —10F

&lo e (F loasli (Y a8 (g 5ke (Y sles (53ia ()
3,10 ol ax 30 gl 1 5 AL 100

Vg (F Jlgees (¥ Jom ST (Y Jis A2 0
£3,19 51,8 Hho Cooundd p1AS 33 jio pgw shy —1OF

gl e (F alanly ae (7 (s she (¥ & oS ()
3,00 51,80 Gle il 0 g odlas I SGplas -1AY

oS 8 (F lidaes (T S Fgtess (V 28 el ()
ol 5 sl jl Suplas 4 by (55 () —1OA

Jgees (F JWg 5 (¥ Sigrial (7 Sdgal! ()
Al B g slagleil plad ¢il) Jade JuSSG )0 104

Vood (¥ L (F Lo (¥ 52 ()



14 axie 812F bliel 1 (55e) s Al

1 AR b wmas p ) OMas plad 4 el g Sl uas VP
L s (¥ oy ssle (¥ L gl (v ol il ()

A U !

fousl plas 81,5900, Jluomd sbdpivs b auwolio jo S5 90l) Jeuals ylos o5 -17)
ol Sloie 539 o3 ()
Uy st sy ol pogr lia (F
é,L:o kglhu.f.ﬁu 9§ Al dnd u.‘";,g.ﬂ) t5|)'! 0.)] o8 —wibis (F

e Wilre JUiowd s piuw (5 ad sladaiin 3)90 30 2 ) 0)lee Ao ~\FY

ealud oy (¥ 2y ple ()
Y olad S5 o)ad (F W B2y gy dig (T
falldl oo paitiane (Jluowd gloodi o e5r 3 Jlamd soowi puF 5l Soplas -1FY
(@ - Se) pgailes 90l L 5055 (¥ (CCD) 3L slwoarS i ()
(CMOS) osSlss 53 claansT cla LaSa (F (@ = S1) 595 390l &L 505,58 (Y
il oo ST ) s JUazys (5519 530 908 (S (55 31 s 43 35 plaS” V7 F
e e lad SIS O jad (Y eelsd 3 ()
o iy el 3 Ly 397 (F e ol 235 S S8 (7
pIu R N [ [PYROUSRE RN | CE SR Pt F PCINDRRR] PYIFEIW) FOPEPRRRE SPRR 7.1
(8,045 a8 (slaazyza (¥ 29 5 ! ()
Slakive yuii g palail 5 5cwws L (F Al 5l etz b (g 5 8050 e YL (Y

Pl 9590 AT ke (7 3155 Splid 3 srgadd JuKidd olasl =195

s B Al el )l O

Sl slaasly Las 51 S0 Ol (23l (Y

Syl S50 BgaSs Sen )5 g S (K olge 5 5 (T

Sl P )3 S5, saile slge 4 b JgunsS s San (5 00y 39 (F
¢l o o315 03l i gaaalS 3uki a8 3 590 30 &y 35 AlaS ~1PY

)9 & wles dal> glasns . 5 (Y P Ao Glaea ClS B jaud dis ()

Py dmio plisay )9 len i dio (F oSl Al 4y ol s> glaons 5 (Y
] (glad> posy ygeai Cod 03y 25 SR 5 G plus 50 —IFA

N 2y sl ) (F el Jpena (T et S (V0 gyl (51> ()
Toww! (glodgumo ax (3 0,8 ggl> J )l el Al dsls -174

o/ A—% (F o f—F (T o XO—Y (¥ o) o A=F ()



Y dxio 812F wwlebiyl p (550U &0l

flw! e olad SUSE D jad 0590 50 4 ¥ plas

) (S oy S35 12 (I ()

Byl (Ko eady oy il dnals 4 (F

ol e Kooy Al b e3> g0 Lasid O a8 (Y

ol Siglis cilo b S5 95 532 90 el O jaa (F

€3 35 o0 o yu0 33 9y &yl JUT T 50 o sl oL Slusguas 15,80 plas’

AgOS s 5 (Y 38 4 Sl ()

o8 alag ks o5 5 (F 38 & Sl pite (T

il plas 58 (91559057 b painans (751,590 (sWooliouwd 50 0ullS ] ;05 ddbg
lacuiall &)l,> (¥ $3958 Sledb! Lzt ()

sSewig 2SI sla laa (F ashle =5 > (¥

Tz 33 DR bpiunus g (5155201 i gasols S jo (0 55532

CaalS 51 aalizu! pas (¥ bekd 1,55 Bis ()
a0 byl solazu! (F okt 5l solazl pas (Y

] 390 plas’ (31,59231) ygasals 0 pguai Sbml (09,

b L5 302 cglmpsl 528,8 1153.0)

bl gk )3 lagyg 2SIl Golisl pls 4 (¥

andlly j9 A6 G50 %50 Gog Glags SUl pad Sl (F
Colos Wl 4 uwiVly Wbl e e 2SIl &5 > (F

Tz (315 920)) ganels p gl Ol 0 483, )54 (AU

w2l (F pe2gs (7 ooglle (F s# O
o9 o0 iS4z jlaisl 4 5,9 S0l Jeol> b &

PSL (f PSP (v SPS (v IP ()
TS co Jol5 (w0t 1y ) ©jles 4y 35 plus’

LSO~ Ty Jold yoi gl odigd SOy Slgo?

$3y Suilges ()

=Ll slaadls (Y

o] olans LS 5 (T

anST glant SLS 5 5 QLIS slaadls gy, audlgu (F

Tl oo slodgame 4z ;0 PSP (S 20 796 Job

yagili Foo—Fao (F jagli Yo (¥ jiagili $o=Yoo (Y Sagils 880 ()

-\Y.

Al

-\vy

-\vy

-\v¥

-\vb

-\v#

-\vy

-\YA

P
bl oo E o>y cpgle ) slade 4> sl YU cuas b TP olxae -1VA

Vo (F Y (¥ & (Y Y8 O
Sl yada  Eob 53 Jla3 CR pgaai (0 S8 Oy ol Cys
yagy5un Yoo 5l 2aS (Y yaag o Yoo 5l a5 ()

0,5 S5 5,08 )0 (58l 3l B (P ey S Yoo il 2aS g ey See Vool 2y (F

“\A-



